$205

ZESHOEKIG KLIMTOESTEL
HEXAGONE
SECHSECK-KLETTERGERAT
HEXAGONAL CLIMBER
HEXAGONO

ATTREZZO ESAGONALE DA
ARRAMPICATA

Montagehandleiding
Notice de montage
Assembling manual
Montageanleitung

Leeftijd
Age group
Age / Alter
Edad / Eta

6-15

EUROPLAY nv
Eegene 9

B-9200 DENDERMONDE
tel. 32.52.22 66 22
fax.32.52.22 67 22
www.europlay.eu

Instrucciones para el montaje
Istruzioni di installazione

Dat.: 16/11/2017

Rev.: -
Page: 1/8

UZ +210kg

VALHOOGTE / HAUTEUR DE CHUTE /
FALL HEIGHT / FALLHOHE/
ALTURA DE CAIDA / ALTEZZA DI CADUTA

9 1

2370

groundlevel

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA /
SICHERHEITSABSTAND / ZONA DE SEGURIDAD / DISTANZA DI SICUREZZA

AFMETINGEN
DIMENSIONS
MASSE
DIMENSIONES
DIMENSIONI
L:3,Tm

Br: 2,7m

H: 2,5m

6880

||

[}

7292

55,5m?2




$205

Montagehandleiding - Notice de montage
Assembling manual- Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione

Dat.: 16/11/2017

Page: 2/8

Benodigdheden - Liste des pieces - Materials - Bendtigtes - Accesorios - Requisiti

1x Ix 1x Ix Ix Ix
QS S S S v S
5 ©
= =
dE 2 = S = i
< [aa) O A o L o
1> AP o[> > > >
| T | T T | T o T T
2 S 3 2 3 3
| & | N N el Q v & X
) ) ) ) )
- - - -
- -
2350 x @120 2350 x @120 2350 x @120 2350 x @120 2350 x @120 2350 x @120
14.95kg 14.95kg 15.07kg 14.80kg 14.80kg 15.07kg
2x S205-H-HG-01 1x S205-H-HH-01 9x L400-M-Hbaar-01
blue
1500 x @120 9.60kg| 1500 x @120 9.62kg|1360 x @33,7 3.29kg
1x S205-As-Klimnet-01 1x L305-As-Touw-01 1x S205-M-Glijpaal-01
N | & \
3
LN
\,.|\l
Ny i.!p
gy
v!'il!' . red red blue
!ihl
AN
\‘!!liv
«g\‘ -
§ I§
8.91kg 1.83kg| 2821 x 500 x 79 8.46kg
6x 1x S
5 D5
S +
o [®)
o 2
O o
% o
= p
& Q9
952,5 x @150 760 X 97,7 x 96
6.09kg 1.32kg




Montagehandleiding - Notice de montage Dat.: 16/11/2017
8205 Assembling manual-Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione Page: 3/8

Benodigdheden - Liste des pieces - Materials - Bendtigtes - Accesorios - Requisiti

2x M10x 120
12x M12 x 140 <] | LLRALAANAA Ix M10 ‘gl’
6x MI12x 260 )
18x M10 x 80 12x R60 X @12 @
2% MI0 1x A640-M-Plaatje-01
37x M12 @
118,1 x 78,8 x 40 0.11kg

2x M10 (=

o)
37x M12 ‘
2x M10 [D
37X M12




$205

Montagehandleiding - Notice de montage
Assembling manual- Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione

Dat.: 16/11/2017

Page: 4/8




$205

Montagehandleiding - Notice de montage
Assembling manual- Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione

Dat.: 16/11/2017

Page: 5/8

6880

7292

4596
- 3453
502 | _ 642| 1143 2310

!
||

||

\

2326
2986

4306
4966

209

660|660|660|660

640 -




Montagehandleiding - Notice de montage Dat.: 16/11/2017
8205 Assembling manual-Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione Page: 6/8

.0

@ O O O O O

P

S205-H-VA-01
S205-H-VB-01
S205-H-VC-01
S205-H-VD-01
S205-H-VE-01
S205-H-VF-01

®
D

«WQ/
/ >°\ . >
$205-H-HG-01

j’/
0

O

M1 2x2607 :

(—mm ) (1 0B

.0

%; $205-H-VB-0]

5205 HVA O] [ \
IEl >
[ $205-H-VC-01

; ; S205-H-VF-01

Vg €




Montagehandleiding - Notice de montage

8205 Assembling manual-Instrucciones para el montaje

Montageanleitung - Instruzioni di installazione

Dat.: 16/11/2017

Page: 7/8

$205-H-HG-0] —_—

$205-H-HH-01

0
c1§'

M12x260

(——mmm

S205-H-V

S205-H-VF-01

S205-H-VE-01 _Jo
\\

L

44

/\
\a

@\

Y
A
7

$205-H-VD-01 L O

2 LD 2 2

M10x120
2X

—l <E>

S205-M-Glijpaal-01

groundlevel

1 ol i
[ T I '®)
L O | N
ol O
<| O
/o \ o |
Yk : [ 1
: Lo/ o _
4
° o Jr/
\ g (}\ /)
T >
e} o
S 31
<ﬁ> S205-H-VB-01 \SQOS-H—VA-O]




Montagehandleiding - Notice de montage
8205 Assembling manual-Instrucciones para el montaje

Dat.: 16/11/2017

Montageanleitung - Instruzioni di installazione

Page: 8/8

@

o
° ﬂ I -
©ae(0 A
o s Y
o

S205-As-Klimnet-01

©® lﬁ

Lb-M-Grondanker-01

A640-M-Plaatie-01 b,h] X Jj
- .

Bij droog weer moeten alle bouten en schroeven opnieuw aangespannen worden.

Par temps sec il faut resserrer régulierement toute la visserie.
@ By dry and warm weather check the tightness of all bolts and screws.

Bei trockenem Wetter miissen alle Schrauben und Bolzen aufs neue angespannt werden.

Para el tiempo seco, se necesita cerrar o ajustar los tornillos y tuercas.
Con tempo asciutto, tutti i bulloni e le viti devono essere avvitati nuovamente.




